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Plck the appropriate answers from the following depending on the geography fields and subfields:
1) Human geography tries to explain how all aspects of human life relate to the area in which they take place.

QMO 111 ¢ establishs cose tes with athr siste sl scence feds n arder t comprehend and clanfy the human companents of the eart's
surtace

111) A5 a result, human geography does not presume to be extremely inter-disciplinary.
Only 111 Is correct
None of the glven optlons

Both I & IT are correct

o0 w »

Only ILis correct

QNo: 2 The compasition of the Natianal Commission for Minorities includes?

A Chairman and 5 members.
B President, Vice President and 5 members.
c President, Vice President and 3 members.
D President, Vice President and 8 members.

Q.No: 3 Which of the following ministries has launched a blockchain-based e-marketplace for coffee?

A Ministry of Home Affairs
B Minlstry of Commerce and Industries

c Minlstry of Finance

[ Minlstry of Skill Development and Enterprise

Q.No: 4 Who has become the first Indian Wrestier to win Gold Medal at U-23 World Wrestling Championships in 20227

A Vijay Rawat
B Sandeep Tiwarl
c Vinay Sharma

o Aman Sehrawat

Consider the following statements:
() The Public Service Commission established for the first time in India had a chairman and 4 members.

QMO Ross Walker was the fst ehairman ofthe Pubic Sevice Commission i Indi.

‘Which of the above statements are/are false?

Nelther (1) nor (11)

) and (i) bath

only (i)

only ()

on @ »

Q.No: 6 Who s the only player in the top 25 In Forbes” annual list of the highest-paid female athletes in the world?
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A Ankita Raina
B Sanla Mirza
3 Cand_C
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c Rutuja Bhosale
o PV Sindhu

Q.No: 7 Wihich of the following kinds of Instruments Is Ravana Hatta or Kamaicha?

A Reed Instruments
B Stringed Instruments
c Rhythm Instruments
o Wind instruments

Q.Ne: 8 What do you mean by cycical unemployment?

A disguised unemployment
B unemployment durlng recessionary phase of a trade cycle
c voluntary unemployment
[ seasonal unemployment

Q.No: 9 The organisation was founded in 1914. Originally, ts loans helped rebulld countries devastated by World War II. Identify the organisation.

A World Bank
B G20

c World Trade Organisation
D

International Court of Justi

Q.No: 10 The crucial phrase In Semple’s concept of human geography s~ In the interaction.”

A Lively
B Kinetlc

c Zeal

o Oynamism

Q.No: 11 Which of the following has won the World Athiete of the Year 2022 award?

A Athing Mu
B McLaughtin-Levrone

c McLaughtin-Levrone & Mondo Duplantis
[ Mondo Duplantis

Q.No: 12 International Day of Rural Women is observed every year on which day?

A 25 October
B 15 Octaber
c 5 October
[ 1 October

Q.No: 13 Which of the following state government in partnership with startup TechEagle has unveiled Asia’s first drone delivery hub and network?

A Karnataka
B Andhra Pradesh
c Rajasthan
o Meghalaya

Q.No: 14 Who s the author of the book "The God of Small Things*?

A Karan Thapa
B Inumpa Lanict
c Arvind Adiga

o Arundhati Roy
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Q.No: 15 Which of the following Indian dances has originated from Southern India? e 313 P w1 e T 2 e A A gan @7
Kathak T
B odissi s
c Manipurl wferg®t
o Kathakali wurh
Q.No: 16 Who was the founder of the Maurya Empire? W Fr & HRE P 82
A Bindusara fagam
B Chandragupta Maurya i
4 Ashoka s
D Bimblsara fafRrm
QNo: 17 1n which year did India become a republic? e e ad A @ oot &
A 1947 1947
B 1952 1952
c 1560 1960
o 1950 1950
Q Who is known as the “Flying Sik*? e R 3 0 8 ol T o 32
A Anju Bobby George s atdt wd
B Hima Das R g
4 P.T. Usha WA,
o Milkha Singh Foreen iy
Q.No: 19 Which of the following books serves as an authority for information regarding the music, musicians and composers of the previous centuries?
A Sangeeta Ratnakara Rk
B Sangeeta Sudhakara wifta guret
< Sangeeta sampradya Pradarshinl wofta wwera wefff
D Natyasashtra rewE:
QNo: 20 There are how many aspects of Abhinaya? ST 3 o g &
A six ur
B Four w
c Two a
D Eight =
Tn the followi a been givenin Voice. Out of the four altematives suggested, select the one which best expresses the same sentence in Passive/Active Voice.
QnNo: 21
We will buy two copies of this magazine.
A Twa coples of this magazine have been bought by us.
) Twa coples of this magazine will be bought by us.
c Two copies of this magazine had been bought by us.
o Two coples of this magazine will have been bought by us.
In the sentence, identify the segment which contains the grammatical error.
QNo: 22
More than a hundred people was trampled in the stampede today.
A More than
B was trampled
c 2 hundred people
D stampeda taday
 Cana
0123, 1027 A _Cand
Choase the correct idiom that can fit in the blank making the sentence grammatically and meaningfully correct.
Q.Ne: 23
. myfather tumed a baren litle plot of land into the flourishing farm you see today.
A by the sweat of his brow
B ‘saved by the bell
c by the back door
D by the gross
Arrange the jumbled sentences to make a meaningful paragragh.
A. But others have taken on the distinctive yellow of straw that is ready to be harvested.
Q.No: 24 B. In Patiala, this step s still some time away, as the fires attest.
C. Some of the rice stalk are stil a couple of feet high and green.
D. About 200 km northwest of Patiala, In Amritsar — from where the monsoon winds recede earlier - the fields have already been harvested and readied for the winter crop.
E. The highway to Bibipur, a hamlet about S0 km from Patiala town, cuts through acres of paddy.
A Eocas
B EcaDB
e EcasD
o EDcBA )

QNo: 26

A
B
c
o

In the following question, out of the four alternatives, select the word similar in meaning to the word given.
Juvenile

Jejune

Progeny.

Offspring

Justice

In the following question, there are six sentences marked S1, 6, P, Q, R, S. The positions of 51 and S are fixed. You are required to choose ane of the four alternatives which would be the most logical sequence of the sentence in the passage.

1. Smoke oozed up between the planks.

P: Passengers were told to be ready to quit the ship.
Q: The rising gale fanned the shouldering fire.

R: Every one now knew there was a fire on board.
: Flames broke out here and there.

6. Most people bore the shock bravely.

QsrP

QPSR

RSPQ

SRQP

In the following question, a sentence is given with a blank to be filled in with an appropriate word. Select the correct alternative aut of the four and indicate it by selecting the appropriate option.

‘The US has become far more accommodating to people with all kinds of food sensitivities and diet .

A Prefer
B Regiments

c Regimens.

o Habitual

Q.No: 28 Choose the option that provides the correct word to be filled in the blank.
_Cana ¢
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India continuesto _________ the highest amount of e-waste, more than China, the U.S., Japan and Germany.

Recyeling

Efficient

Generate

o now >

Produced

In the below question, sentences are given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested for each question. Choose the correct alternative out of the four.
QNo: 29

‘The boys were tired, but not too tired to examine the ttle hut

thoroughly

Ingenlousty

deeply

o0 w»

Intense

In the following question, one part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option.
Never before in his life, Terrence declared, he had tasted such food as this.

he had tasted such food

A
B his life, Terrence declared,
c Never before In
)

as this.

Four akternatives are glven for the bracket Choose the alternative which best the meaning of the and mark It.

QNo: 31

A
[
c
o

The Government claims that Indian industry Is progressing (by leaps and bounds).
Ata desired pace

Ata rapid pace

Leisurely

Intermittently

In the follawing question, there are six sentences marked 51, 56, P, Q, R, S. The positions of 51 and 56 are fixed. You are required to choose one of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Youlive either In a village or a town of India.

P: Many villages and towns form a tehsil or 3 taluka.

Q: There are also some areas In our country called Union Territories.

R: Many tehsils of talukas form a district and many districts form a State.
S: These, together with all the states of our country make India.

6. India is our mothertand.

PRQS

PQRS

QPRS

RPQS

o N >

Select the antonym of the given word.
QNo: 33

HoLLOW

narrow

shallow

sofi

o n @ >

vacant

Q.No: 34 In the below question, a sentence has been given in Active/Passive Voice. Qut of the four alternatives suggested, select the one which best expresses the same sentence In Passive/Active Voice.

5123, 102740

 Cana

Cang,
Nothing could be seen at this hour of the detail of the mass.

1.can see nothing at this hour of the detail of the mass.

1 could have seen nothing at this hour of the detail of the mass.

1 could see nothing at this hour of the detail of the ma:

A
3
c
B}

1 couldn't have seen anything at this hour of the detail of the mass.

Inthe sentence is given in speech. Out of the four alternatives choose the one which best expresses the same sentence In Indirect/Direct Speech.

She exclaimed, “I'm afraid we are rather late!”

She excl

A imed that they were frightened of being late.
B She screamed that she was worried that they would all be late.
c She shouted that they were scared that she would be late.
o

She exclalmed that she was afrald that they were rather late.

Inthe sentence is given in speech. Out of the four alternatives choose the one which best expresses the same sentence in Indirect/Direct Speech.
*Would you mind taking off your slippers before entering the temple2* Karen said to Annalise.
Karen sald that Annalise would take off her silppers before entering the temple.

Karen requested Annalise to take off her slippers before enterlng the temple.

A
B
c Karen told ta off her slippers the temple.
[

Karen requested to the Annalise to taking off her slippers before entering the temple.

In the following question, there are six sentences marked S1, 56, P, Q, R, S. The positions of S1 and S6 are fixed. You are required to choose one of the four alternatives which would be the most logical sequence of the sentence in the passage.

1. When Véeiner was travelling in India, he visited a factory where he saw small frail children sitting on damp ground.
P: And the answer he got was that they were weaving Carpets there.
QnNo: 37
Q: S0 he aske”, "What are they doing the’e?"
R: And then he decided to study the problems of child labourers in India.
S: Weiner was shocked at the plight of the child workers.

6. Recently he has published this book and it s winning him acclaim all over the world.

A PQRS
B RPQS
c RPSQ
o QPSR
Inthe sentence is given in peech. Out of the four alternatives choose the one which best expresses the same sentence I Indirect/Direct Speech.
Q.No: 38

‘The servant said, *I met Ramesh when I was coming from the market.”
A The servant said that T was meeting Ramesh when I had come from the market.
B The servant told that Ramesh was to meet him when he was coming from the market.
c The servant said that he has met Ramesh while returning from the market.
o

The servant said that he met Ramesh when he was coming from the market.

Arrange the Jumbled sentences to make 2 meaningful paragraph.

A. One man's dlaim to lasting reputation depends on the other.
QNo: 39 B. For greatness cannot exist in a vacuum, 50 to say.
€. In sport, greatness is seldom achieved alone.
D. For greatness’s ultimate stamp of approval, lies in the overcoming of the thrilling challenges provided by a worthy opponent.

E. It is accomplished when the owner of the tag stands up to gladiatorial challenges from men and women who themselves are seeking the sumame Great.

A ¢BDAE

3 coBAE

c cpBEA

D DBEAC
cana,
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QNe: 40

o n o >

QNo: 42

o0 w >

QNo: 43

o aw >

QNo: 44

on® »

Q.No:

Inthe 3 b Voice. Out of the

She exaggerated some things.
Some things were being exaggerated by her.
Some thing were exaggerated by her.
Some things was exaggerated by her.

Some things were exaggerated by her.

Choose the aption that best gives the meaning of the following phrase or idiom.
Break the bank

To further a loss with mockery or indignity

Win more money than is held by the bank

To be conspicuous about something

To bear a severe loss

Out of the four alternatives, choose the one opposite in meaning to the given word.

Invincivle
Powerless
Potent
Impregnable

Omnipresent

suggested, select the one which best expresses the same sentence in Passive/Active Voice.

In the following question, there are six sentences marked S1, 6, P, Q, R, S. The positions of 51 and S are fixed. You are required to choose ane of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Kabir knew that Ramananda got up very early in the moming and went down on the steps of the ‘ghat’ to bathe in the waters of the sacred Ganges.

P: As Ramananda came down the steps before daybreak for his usual bath, he trod on the sleeping man.
Q: Kabir at once jumped up and threw himself at the feet of the preacher.

R: "Ram - Ram" he exclaimed in astonishment.

S: One dark night, Kabir went to the ‘ghat’ and lay down on one of the river steps.

6. He said, “You have given me the mantra, 'Ram, Ram," I have become your disciple”.

PQSR

PRQS

RQPS

SPRQ

In the following question, one part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If the sentence is free from error, select 'No Errar'.

Over the past vear, the company has changed the leadership of t's legal, policy and communications teams.
Over the past year, the company has

changed the leadership of it's legal,

policy and communications teams.

No error

In the question given below, a set of four sentences A, 8, C, D is given, which when properly sequenced, form a coherent paragraph. Aange the sentences In the correct order, and mark the correct order as your answer.

A. While in the west, Alied Forces had fought their way through southem Italy as for as Rome.
s

B. In June 1944 Germany's military position in World War It appeared hopeless.
C. The disastrous situation was evident by the British Army's stand to drive the Nazis back through the east.

D. The situation on the easten front was catastrophic.

730

A BDCA
 Cana
0123, 1027 A
B cpas
4 ABDC
o BADC
Q.No: 46 Which of the following energy sources is best for keeping the environment clean?
A Wind energy & green energy
B Green energy
c Solar energy
D Wind energy
Q.No: 47 The outer most layer of sun s known as—
Chromosphere
B Photosphere
c Radioactive zone
o Corona

Which of the following represents correct food chain?

I v e g A iy oo ot o gt @1 o g amafir 7o Tl o o et
Fufafad il @l o & 419 @ qufarm @) wss 2 B g rden @2
wa S wh st
s it
R o
o et

i e 3wl o7 o @ g 32
TR (aufEE)

v

fradf &

TR (Rrfiey

Frafefea 49 B @ oF ¥ TR o @1 g &7

A Grass — Eagle — Snake — Insects — Frog TR — T3 — T — T — F5H
5 Grass — Insects — Frog — Snake — Eagle TR — T — 577 — T — TG
< Grass — Frog— Insect — Eagle — Snake TR — BFF — FE = TwF — 7
D Grass — Snake — Eagle — Insects — Frog TR — T — 755 — Fe— T
Q:No: 49 The general range of audible frequencies for humans is - e 3 o 4em S ) T T & -
A 10 Hz to 25,000 Hz 10 Hz & 25,000 Hz
B 26 Hz to 28,000 Hz 26 Hz # 28,000 Hz
< 24 Hz to 25,000 Hz 24 Hz @ 25,000 Hz
o 20 Hz to 20,000 Hz 20 Hz @ 20,000 Hz
QNo: SO Limestane s a raw material used by which Incustry? Profefers ¥ R 5 10 7 (F7T) 1 e 4 v 5 9 o a2
A Petrochemicals Aa v
B Cement W
c Fertilizers whw
o Atuminlum fufrm
[ T v g 3 e o 2 o g 1 o g ol o T A o wd ]
QMNo: 51 CO; tums lime water milky, due to the formation of co, F A & o0 g T O @ g & g
A caco, caco,
B 2,0, 2,0,
c Ca(OH), Ca(OH),
D Ca,0, Ca,0,
Q:No: 52 Why Carbon Monoxide is a poliutant? T AT W & 8
A It inhibits glycolysis g e AR 2 A
B Makes nervous system Inactive o e o w Pfdea @ 2 b
c It reacts with Oxygen g ot ¥ wra s e 1
o Reacts with haemoglobin g e ¥ o e 1
Q.No: 53 Which of the fallowing organisms does not fit into the Cell Theary? Fmfafea 3§ o & < PR Righ s3w1 78 82
A Virus ITTH
_Cana 830
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8 s+ut=| s+ut=0.5at
c  v-a=u vat=u
[n =uio2as Vi=ui-2as

[c Enter =
L]

physical g what kind of resource? “FNTS S 1 R Maw e F Hde IR I R HER & A ¥ w0 A Suw SRR WA 3 8

wiww

Q.No: 74 Melissa virus was spreaded through the?

A Blue hats wEen
Rl

51723, 1027 A0

PRI & 3 W A 5 o 31 AR B § 9 SUE 9 e A R R T e &7
TR

e wex
e e

|Q.No: 80 What shouid be done, f the pen drive s not deducted? af ¥ grga A 1 @t § A 7 e ART

e

AT HoR-» TFC FFP A USB T 74— W1 BR IR A

s FIR —» TEE R 3if1 UsB T 7 - fwvaw faw
s #oR —» TG P 3 USB T 79 —» HTIT IRF

L. T A PR T U 3 B 5 T 4t @ o S e a9 € O e o 37

$gPIe 3 dage W A e ol R 9 e Fm gl e i

TR st
ey
Areday
Q.No: 83 ly It known as? Wi A geere e Aead A ) a8 U 9 1 e o R A @ e e
O e
[C »m ;ﬁ
1L SMALLnet wifete
‘Qwumd for any must also be licensed NFmE o 2 § o 0 o AR T w A
W07 B% as that of the original? it R s e
A Patents e
c Copyright wifge
L] Academic license STl T
|Q.No: 85 Encryption o Pfefar A 2 s v @ i &7
A seteapcation e
B Side effects T
o Executable path P v Ty

|Q.No: 86 1n computer terminology full form of HTML is 5 TR B v A ML B g )

Gand ¢
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A Hyper Text Managing Links T e R |
c  Hyper Text Manipulation Language TR e eftgde A |
D Hyper Text Manipulating Links T e Afigafen e

Q.No: 87 InM.S Word o ad 7 R Slagte W e T AU TR 0 g R Rand Al 2 &

am TR AR IR R 3 3 w1 v A 81
A Press Shift + F7 Shift + F7 qamt

Q.No: 90 ey public and —_— :.:n’mtwau\mmimmawuumamvamwm,mm*mmam

A ava = |
B Python e |
c Jenkins. il |

Find the next term in the series. e 3 3T WG 1A U

Q.No: 91
28, 46, 100, 190, 316, ? 28, 46, 100, 190, 316, ?
A | vlﬂ
B 482 482
D 490
@ w ¥ e Pl wieo 34
Q.No: 92
405 + 27 x 40 - 308 + 22 = 314 405 + 27 x 40 - 308 + 22 = 31
+and + - 4
I xand +
c +and x
+ and -
w4
Q:No: 93 In the following diagram, the square represents giris, ‘@' il 1 s e 3, By v ferydl 1w S § o o R @ SR
nds letter who a1 & 9 0 § 35 2P 1l el &

QiNos 5 {4 7 ecn o Mo, b mofher s Amere. £ " Krishna i the mother n law of Herry. HOW S ozt 2 2 wef &1 7 o o v 1 4, o a o &1 o o ot 01 &1 o, ¥ v 81 4, 809 R o v &2

Great Grandson’s Daught e wi A gl |
Grand Niece Sk

Daughter -t

Q.No: 95 In the following question, ©0dd number pair from t i Pt we 3, faw o et 3 @ R den a@ g e 3 ‘

| e 0dd number
e R

6932 - 150
7851 - 180 |

WA .

- ‘code language 'CO ded as ‘DNQ s coded as "MDUSFQ'. How will 'DOCTOR' be coded in that code guhhgwi'cmwﬂ’m*mﬂmwtwﬂ;ﬂahmhwmwﬂmﬁﬁm i
ﬂ s

EPDUPQ |
ENDSNS |

D 8, A% e 38 4 ¥ 3 0 gavchn o0 ¥ A B o 31 0 @ 7w W 7
w

Aunt v'. |
D Cousin il

T8 PR BT N P PR e A o o
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In each of the following questions, choose the correct mirror image of the figure from amongst the four alternatives. e e 1, e AR et # @ s @1 et @ wiofde
Problem Figure: o g
QNo: 99
8 A A
| » s
L) c c
;Q.No: 100 If 'BANANA' is coded as "BAADAADA, then the code of 'PAPAYA’ is- uf2 'BANANA’ %1 '‘BAADAADA’ ifea fan arar 2, at ‘PAPAYA' & fire e -
A AEBAGHAH) ABARAD
B RTABCDEYA RTABCDEYA
o SABCEDAUV 'SABCEDAUV
|QNo: 101 In select alterns et w4, R my Raved! 4 @ R g @ ww et
A Vent W
le Orifice fox
o Aperture. ww
‘Select the number-pair in related in yos the given number pai: - e 1 o ) e e @ e § 94 o 1 S e A @ 1
Q.No: 103
(GATE : HXYX : SINK © (GATE : HXYX :: SINK ©
A and B are brother, C and D are sister, A's son is D's brother. How is C related to A?
|Q.No: 105 Abhay y 23rd whille after 15th. Yasir correctly remembers that Kavita's birthda) 5 a1 %1 WA 23 A A 99 A 15 ARG & A 1 3| ARR 1 6% A UG 3 6 BRI 3 A 20 A F @ T4 25
| ‘While before 25th. On which of the following dates does Kavita's birthday definitely fall? P 3 A8 o anlt @ P AR R w0 aRA s ¥
 Gand C
8123, 1027 AM

mlnmmmm,mmuwummmmhnﬁ?rmw Prdn: Frafifr w3, wa o 4 ré @ oI o A @ o e e Bl R

Genuine : Authentic :: Mirage : 7 srereft: o < sy : 7

‘The numbers in the matrix given below follow.
replace the question mark.

and choose A fg e g A WS w Pl v T R-aR SR R-AR S R 81 R o s SR 3 He  a a6 o oK g @ afeaft
i

g8, Ry g R 71 el R 1 e

:@::'o:

>

-~

©

G G
B O

©

- @

|Q.No: 109 Three of the following four words are alike in a certain way and one is different. Pick the 0dd word out. P ar 2l A3 3w Pfba 70% 3 ' 39 ¥ ok @ e §) R e @
B Political Science. oty R

lc History R

o Sociology A W

| Choose the Venn diagram which best ilustrates the three given classes in each of the following questions. T R T B, A D A v i R 0 o 1w e e 31
.No: 110

y° House, Bedroom, Bathroom R, W, TR

A O (@)

‘ Oo Oo
cana,
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c
D
[ Find the next term in the series. A 3 T O AR
Q.No: 111
144, 126, 108, 90, 72, ? 144, 126, 108, 90, 72, ?
B 68 68
c 50 50
D 82 82
i Wi ope. e imiasig.. et A, o e 4 7 R, Rt 0 g 1 R Rt A 9 et e e R, S e ) g e
Q.No: 112
NQ23, Lw31, EL47, 2USS NQ23, W31, EL47, ZUSS
B Jo3s Jo3s
c KC39 KC39
D viaz2 via2
mnunvw.nvnmumw-muamas«.mwmumumn-muxrﬁ After few years, the
= wmas*smwumamwam«‘mﬂ.wm 12% B T W W B 3 R 3 A A, W 3 Ao @)
Q.No: 113 Ll the old bike to a new customer at 5% profit, at what price did the new ) o e vy s Pl ‘ ;wmwwmmﬁhmmww%hhwmmm
A house and a shop were sold for Rs 1 lakh each. In this transaction, the house sale resulted into 20% loss whereas the shop sale into 20%
profit. The entire transaction resulted in
A 1/24 gain of Rs 1 lakh
0/18 loss of Rs 1 lakh
sz 02740

‘Study the graph carefully and answer the following question

’ ‘me-\mwmwumz

Cotton

ST I
Production missess
-m-mm \ . W osnull s

o
) s . "
1] u
B " < o «
W

D 1 ¥ 1992-93 ®1 I, 2 1994-95 ¥ T 1 e 7T 1

g A U3 W 50 390 WA A, e R N 81 9 R 15% AR 20% 2 240 81 9 0. Pt () o 8-
40.00 ¥

3 shopkeeper gain the CP of 15 pen. If he bought 20 pens in Rs.36. Find the SP of one pen 60 1 37 W T GHFER BN 15 I ¥ 3 0 B TR O UG I 81 R 7§ 36 39 20 31 W § A 0w 3 1 R @ @i

Find out which of the figure (a), (b), (c), (d) can be formed from the pieces given in fg. (X). (@), (8), (<), () 78 P38 o, PR (x) & ol 0 w7

i) ';\ | 1A |

30
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India for the year 1990. Study Fruff@a a o 1990 ¥ e sz A w6 gl ¥ TeE B uRRf B 1 A @ T T N U A I AL
- Production in India (in Thousands) = wRE X s (R #H)
. - 5
0 - 92
Q.No: 120 :4 r7y o7 1
i 2
10
o °

AR F 1 I TG A F I 3 B 1 e w2

[QM 121 hads e e 7 T W | -
"7 318, 320, 326, 338, 358, 388, 428 318, 320, 326, 338, 358, 388, 428

c 388
358

R Wl ) WY  FHAER G R

T g 1 8, v 3 SR ) ol @ gl
ol Frepd w3 ok Fruffe 37 5 fog e Frd R R T e 1 SR T ¢

Statements T
Al doors are sets. i doors, sets §1
QNo: 123 Al nets are sets. W nets, sets ¥

Al bins are sets.

w 7§ | 39 R 31§ 5t WA 1

Q.No: 124 Each of the following questions consists of six statements followed by options consisting of three
statements put together in a ch

 Gand C 1950
SN23, 1027 AM
|
1,56
O ek X 4 e 9, 08 Rt s ¥ s o 2
QuNo: 125 BY 3 prime number? . "
FSSABADIGE F$5A%&DAGE@CIX*T19
A "! "
)
&l
wmaﬂzﬂﬂmw:,zsgmmhnwﬁwﬂvﬁmn.ammwd?
15%
25%
75% |
8400 and incurred a loss of 25%. At what price (in Rs) should g i 30 3R T8 25% ¥ 7R 51 T 40% B A ra FE ¥ Ry By @ (. ) 0 awg a0 afge &
B 5550 25550
o 18900
Study and answer below t.
Unitsof Good Manufactured and sold by Companiesin a P 0 e ar AR o R e v I A
- T R T T S SR
- o
i ©
.l! s
= 0
S Ll
QNo: 128 15 ! »
0
: .
’ e ! ¥ r ° L Q R s
- Manufactured 8 S0t 3RA R
What is the respective ratio of the units of goods sold by companies P and Q together to the units of goods sold by companies R and S P R Q B T AN AR Y AN ¥ e W o Al R 9IRS T 0w W AR 0 g @ e e & dia o s wn @ 7
Q.No: 129 8, C,0, Eand F) different Q e 8, C, D, E R F) TR @ 3¥1-3€1 2RI P AR Q 1 et ¢ 7ol 1 wam 3 e ven 31
also. Total Y Qs 300 and P gt o R G R i o 1 g P ol Q i W) i g gl @: 300 AR 500 31
 Gand C 200
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[Seller [ P P | Q
45
53
28
38
35
= [F—Tss T}
by €, D, Eand F?
: s ABCDEMRFY 7 Q w5y s
A 172 172 |
162 162

@ T g LRSS 0 o fie R 7 ” W
‘milk shall 1 U 1 o w1 el A Sven e

snfarEr T W S di v gwrr 3 5 § R ol

Q.No: 132 The type of W fadadt & fadfa J St aren 87
A Sensitivity training W e
8 Committee assignments. wfufe & ol

o None of the given options Ry g freret 3 @ W T8

— N

QNo: 133 P A 3 O W A A e B A

B Multiple correlation g wEE
TS TG

 Fasten -Moving Consumer Goods
 Fast-Motion Consumer Goods

|QNo: 135 Technical skis are largely required at
A Junior Middle level management

20
123, 1027 AM
|QNo: 137 EBITis used EBIT @1 I S0 35 5 4 ¥ w0 A 33 % o R v @1 €8IT 1 oof v &
c Earning by interest and tax ot g o d |
In | Earning before income tax ffn Rk v v
Q.No: 138 It s derived by the practical analysis of a societal concs g O S A & g Redo & o g @ IR w5 mid Faro & R @i sv 8 ag of se am @ |
Values. " |
norms Ead I
Culture el |
it (OCTAPAC) Hepfa A Hwd, a0 o faare #1 wafifa avan &
g |
e ‘
Proffar # 4 - aRdum & s 3 el R &
Sl e |
T fre |
0 TR AR T W T I
o |
T @ |
QNo: 142 P 3 @ 98 saen e Ae A o W 8 2 ]
A Bank overdratt - s |
B  Sundry debtors o Fmew
c Goodwill @ |
|QNo: 143 to command, to control T R G R SR T A, 02 3N, W S SR P e R g e @ |
B Noosts:apd O Deswl e o o B _‘
c | F.W. Taylor sy |
D Urwick Sffw
Q.No: 144 How does services differ from physical goods? Bty shfew o 4 4 e 7 ]
B | They belong to operations of marketing. 2 Rrawrr & s @ wft ¥ |
D They A afedfta, snpd sftrrea o T B A ¥ |
Gara.
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Q.No: 145 Who is known as father of TQM 8 AR (TQM) ¥ S ¥ E A S 87 |
A Keith Davis. i 3w |
B TV Rao e |
c Sashkin and Kiser R o |
Q.No: 146  Laughing back of profit is ploughing back of profits is dash source of finance T R G O i e e d i @ |
A ‘l‘um g o |
B trade credit credit e B |
) factoring e

Qo; 147 §7ou018 o marked - U s RSO P g e Aot et 4 v 81 2 et O 0 oo oaon & sk o 1 |

i wrdafie v

Q.No: 149 Which product is suited for Market skimming pricing? i w8
A A product facing too much competition. a5 ot wfiveauf @1 A @73 T g
& A g e s

g sftat srafts aven s

it e A S e A srurd PresrE B w

 Simplify:

QNo: 151 5. 81)2(27)° = (3)

9'x(81)+(27)" = (3)

c 4
o |a

afe it fd o el @, at i AR 5 ag 5 W H w1 & s e W

Q.No: 152 A man can row 40 km upstream in 5 hrs. If the speed of man in still water is 9 he can hours?
|

A 70 km

5 60 km

40 km |

20
123, 102744 €8_Cand ST ——
‘Q.No' - ;. & hepimiipoing the product st 10% . o sopEie i ‘ﬂiummﬂmramsmmmtahd-nmnhinﬁnwmmmﬂma’mmi
m“"m"' mwmumumdmum 40% T § IR T FT 10% ¥, T I T 04 W B {1 A A D THE 9,240 HE 3, T IE 9 A0 G F0 |
re.2400 A A w2000 w
Rs.2800 ¥.2800
Q.No: 154 What is the least number of square tiles required to pave the fi 180 . wa a1 150 M. 93 v W AoR F ford am A T R AR @ gl @ wRea g
A ‘ll 11 |
QNo: 155 The dstance es 4 s . Qe A MR I N.lluta?' n-in;:mukwumm-nmm-m.-u;a;"-an
;mauum mm-i s X T R & 9l 75 Rl o @ A 9 iR S 31 3 R v e
11:30 a.m. |
12: 30 p.m.. |
11:00 a.m. |
Frafefa o 2 o PR (2) % 0 A e
2_3x8+Ver=7
110 |
130 |
The average weight of L, M and N is 93 kg. If the average weight of L and M be 89 kg and that of M and N be 96.5 kg, then the weight (nka) | 0 [ S o, A M BT ... B, A
4y 3 2 o RO
o5 |
101 |
No: 159 A BooK is marked 50% above the cost price and sold discounts of m% and 10% 8%. Find the wgwdmwimmﬂuwwidkmss-ikxntamwmuhw&mmwhmwﬂﬁawﬁi
QNo: 158 1 ofi f instead of giving o, A e B 9 8 9 SR A 9@ 81
No: 159 AleY travels from 1 he at 8 kmph office S minutes late. If 12 kmph he would -1mua'ﬂtﬂm-wmmﬁwlﬂnﬁamiuma-mmﬂswwntqn'unﬁ';zmmﬂ
Q.o | reach i office 5 is hou (in Kilometers). R & T e o 7 5 feie TR S e g i 81 S W 3R I i (R ) a5 dha 9 gl v #RA |
A 6km & fmt |
c 24 km 24 ot |
QNo: 160 The ratio of length and breadth of 2 rectangle is 7- 3 and its perimeter is equal to the uF Jaa @ wars R A @ S 73 % R sEe oRene ow sgE
circumference of a semi-circle. R & W ) AR @ o &S 1701 @ A ¢ A dgE @ raww
1701 em®?
R @
 Gand 30
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A 1872 em® 187230

D 1975 cm? 1975 Faf
., There are three athietes A, B, A starts running 40 m/min, After 5 i wuelie A, B 3R C w d g W {1 A, 40 Hiex/five 3 72 A 3 g A dg g a0 31 5 e ¥ g 8 S0 Hiey/fre @ ufa @ g
QNo: 161 1ning with 50 c 80 o, Nk € (in m) when he catches A? m'.wl.cmmm&ﬂmiﬁwwwhwc?}ﬂwﬁnmmnmmmnw bl

What should come in place of the question mark (7) in the following question? Prafefia oy A wars R (7) & 0 & w6
QNo: 162 (4 564) x (0.4)" = (0.4)" x (0.0256) (0.064) x (0.4)" = (0.4)" x (0.0256) ‘
A il 2 1

Q.No: 163 Prafefa denal 1,2, 2,3,3,3,4,4,4,4,5,5,5,5,5,6,6,6,6,6,6 987, 7,7,7,7,7, 7 & i sme w1 87

The arithmetic mean of the following numbers ‘
1,2,2,3,3,3,4,4,4,4,5,5,5,5,5,6,6,6,6,6,6a0d7,7,7,7,7,7,7 Is

The distance between A & B is 211 km. One boat starts towards. 7:45 am. 3 . #1 T AR A ) 0 0 A g A g B A A IR
g : 26 et /2 oIR 18 sl o 2 31t w1 o e A

30
SN23, 1027 AM
: 167 M a laptop for pr Al T A T Pl ge A o duels wda AR 20% affe wwqid @) X A 32400 S & TR GHE ReE A R duels 1 @9 ge e
QN0 167  compounded annually. What s the costprice of the laptop? *
A Rs. 85875 a2 85875 77
N . . A w275 ‘
le“um ’ he cost price. What will be 7 R it 1 R @i W) 20% 9 gz 3 31 7w opl o W R W 20% W 12.5% ¥ gz ‘
).No: 12.5¢ am R
c 27.5% 27.5%
- = |
In 3 vessels, each of 39.6 pa and wat tio of milk and water are 3: 1,2 3,4 : 3in the e R
. ) L 9.6 B i U 3R R o @ 31, 2 3904 ;3 ¥R A
"‘"' i o b, -
- B |
- 179:234 |
W .. terest doub 10 years. It will become sixteen times of itself in how much years ? IR R A R 10 T 3 o I 1 7 R e A o 16 77 @ o |
75w |
- Lad |
3
|Gt bk pocminei o2 s e s 367 32772, 967% & & P e |
50% | 162.50% |
60%
59.40%
o 62.80% 62.80%
No:AT2 work in 10 days. In 15 days. If and days, then in how A Rt % &1 10 Rl A 0 @ v 1 B e v @) 15 RAAl 7 1 w5 w @1 Rk B w4 @ @ AR A,
QNO: 172 10ny ays wil the work be completed? | 1 ol ‘
A 8 8 |
’ 7 v 3ex
Q.No:ln‘lfx- 2+5— Z-T.Ihnlhvlbcof;_—,?
c 0 ° |
i) 17 17
Q.No: 174 InAABC. AB=9 am. AC=7 am. and BC =12 am. The length of median AD is: AABCH, AB =9 ##HI AC =7 %1 ¥ BC = 12 ¥t | AR AD Py s & |
VBem |
 Gand 20
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The b price, TR S Y Sy el e o afe e v (£)” e 1 s ) e e
| then X 60% W Faftea R e &, A Sewe W e @ wfera @ an ‘

Q.No: 180 R 2 % s ol % 16 Wt gk 82

wfefifve
e

FrafEa ue 7t e R T} 3R T 0N awe I B I 0 snlyf aReda @ @i, R 9 A R el A 3 58 Rew 1 ik
A, forim waz @ Sfirlt @ Antonyms” g 31
8. R 7@ 31 onf e w Al

. o5 et W w1 e ond v A e W AT W v §)
€. venmis 3R R e o wE N

20
123, 1027 AM
le EpABC |
) cosae
-
Q.No: 182 3 s v % onlf R e S Y, I %3 91 4@ o) R
A Rremfdve s A
c \I;d-l- |
lD wEARE S
- AN
R @  forg e 3 & v @ a1 a0 -
QNo: 183
fores Zla A wR g
|
|
QNo: 184 Freéfasa A1 e dfa g W w1 1 o A |
A mvin \__ . d 1
- |
|
|
 Prgfefa 3 @ 3R v @ w g |
vt e g 8 T
sy arw i |
; |
A i
Q.No: 187
| R R
‘\ﬁMuiMnr
A ata Pl |
B - j
o  argya —amed
Q.No: 168 PRI 3 3 ariay e e 1 907t G- ]
A foars
B - |
o |ww |
o 7 3 T e 1 e 2 R w0 9 g A ‘
QNo: 189
R R R A T gon 31 |
Gana. 230
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B gEnm |
c v |
o fewmn

Q.No: 190 FiFfafRa & & o st ot R - a1 7 Wy o, adt v W 6w &2
A  Proaras
) i

Q.No: 191 Tl T sran O o F s, T A1 A 2 B 7 & g e A @ e o @ wam R o 87

A  araw Ry ‘
B g Ry |
o e R |

A R g arr 3 Pt A @ R o 1 vt R o @2

e+ ln:'ﬂﬂl;d“m'lﬂ—?“dﬂl'—ﬂﬂﬂ,ﬂw“l ‘
A o o g |
B it e |

o  areafrm g

QNo: 193 FeRFEa 3 94 e, o e G0 o b7

A AR }
B et |
c ‘ﬁ-i“ |

Q.No: 194 ela At Fren & 0-SRr # #-m 7 R v gt e s 7 87

-
T T -
o v -

o

Q.No: 195 AERIRN A 4 st & Y& w(EH) @1 7 -

B g
c rdifr
e

Q.No: 196 Freifdfia & “Frge 1 wafvard) we a1 37

o i

|QuNo: 197 Frmefi A8 s e w1 e -
A e

c il
W

200
SN23, 1027 AM
Q.No: 198 Freiftfla 3 & awm v an vt g
Q.No: 199 Frefifaa 3 & R e a1 a0 ~ et T @7
A 5 e
B  aff ot gt
|
|
 Gand o
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